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Question 1.Select the related word/letters/numbers from the given alternatives:
&3 a3 fashont 7 A Hafetrd Wee/3ERI/EEaT H gfAT|

Pesticide : Plant:: 2 : 2

Options:

1) Medicine : Cure

IR IR

2) Injection : Fever

Soolaelel : Ta%

3) Vaccination : Baby

SrehTeRoT : R

4) Sinarest : Cold

THAREE © SfehTe

Correct Answer: Vaccination : Baby
SrehreheoT ; R

Candidate Answer: Vaccination : Baby

SrehTeRT : R

Question 2.Select the related word/letters/numbers from the given alternatives:
&3 I Taehont @ Hafotrd efee)/3ERI/HEAT H AT |

Select the related letter/word/number from the given alternatives.

54 et # U 10 fashedt F & wraferrd eree)/31eRi/4&aT I 9T
ZXVT : ACEG :: SQOM :?

Options:

1) FHIL

2) HILN
3) JLMO

4) IKMO
Correct Answer: HILN
Candidate Answer: HILN

Question 3.Select the related word/letters/numbers from the given alternatives:
3 I ot H & Faleerd eree) 3R/ i gw|
Select the related letters/words/numbers from the given alternatives.

38 e # U 10 fashed! F & Trdietrd Qee/ 31&RI/HEAT I AT
4:12::5:7?

Options:

1) 25

2) 20

3)22

4) 30
Correct Answer: 20
Candidate Answer: 20
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Question 4. Downloaded from www.qmaths.in

For the following questions

Find the odd numbers/letters/numbers from the given alternatives.

38 e # feU 10 fashed] & & fawa e/ 37T/ 4T3 I giAv|
Options:

1) Red

Gic)

2) Brown

I_T

&)

3) Green

3
4) Yellow
drer

Correct Answer: Brown
g

Candidate Answer: Brown
T

EN

Question 5.

For the following questions

Find the odd numbers/letters/numbers from the given alternatives.

38 Yo & U a1v femedl 7 & fawe ersel) 3rery/deansit i giv

Options:
1) FIHG

2) CGEF
3) IMLK

4) VYXW
Correct Answer: CGEF
Candidate Answer: CGEF

Question 6.

For the following questions

Find the odd numbers/letters/numbers from the given alternatives.

38 v A U aTw fevedt # & fawe ersel) v/ deansit # gfav

Options:
1)1, 0.75, 0.5, 1.25

2)4,3,2,5
3)1,4,2,8

4)2,15,1,25
Correct Answer: 1,4, 2, 8
Candidate Answer: 1, 4, 2, 8

Question 7.Arrange the following words as per order in the dictionary.
AfFAfafd ersel i ereaehier # T 1w &a & 37ar ford |

1. NEST 2. NECK 3. NEAT 4. NEAR
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Options: Downloaded from www.qmaths.in

1)4,2,3,1
2)4,2,1,3
3)4,3,2,1

4)4,2,31
Correct Answer: 4, 3,2, 1
Candidate Answer: 4, 3, 2, 1

Question 8.A series is given, with one term missing. Choose the correct alternative from the given ones that will complete the series.
3 YT H Toh @l & 1S &, Torae veh ug ofe 81 18T 10 fashed] & & HéY fashed YAV S 4@l i g1 |

deb, ijg, nol, 2, xyz
Options:

1) stq

2) rsp

3) rsq

4) stp
Correct Answer: stq
Candidate Answer: stq

Question 9.A series is given, with one term missing. Choose the correct alternative from the given ones that will complete the series.

S 92T # U el & 7 &, orae v g ofed §1 e v et F & w8 fawew glaw S swen w g v
5, 10, 13, 26, 29, 58, 61, ?

Options:

1) 122

2) 125

3) 128

4) 64
Correct Answer: 122
Candidate Answer: 122

Question 10.A man is engaged for planting trees for 10 hours. He plants 10 trees in an hour. He takes rest for 30 minutes after every hour. How many trees does he
plant in 10 hours?

Teh TS I U o9 & ToIT 10 €¢ f&U 310 | 98 T §¢ & 10 98 oR1dT & 3R Ucde 8¢ & a1 30 fHae 3R1E FdT1 g1 38+ 10 8¢ & fhder U oy ?

Options:
1) 100

2) 50
3)70

4) 45
Correct Answer: 70
Candidate Answer: 70

Question 11.Golu is son of Bhola. Sheetal is daughter of Golu. Chitra is daughter of Dilip and Dilip is brother of Bhola. How is Chitra related to Sheetal?

3oy, el 1 9 §1 AMefer, Aol 1 A &1 F=rar, e 1 g & 31 e, it &t os 1 = ot icTer & oFam &aer 82
Options:

1) Sister

ERo

2) Mother

AraT

3) Aunt

E_[31T

4) Mother in law

s

Correct Answer: Aunt
§3-1T

Candidate Answer: Aunt
E_[31T
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Question 12.From the given alternative w QNI @B Chedr frePrenswiwegmetivs dn
fAFfafed fashed! 3 & ag ese AT ST FGU 10 Arse; & 3&RT T TN Fleh AT AT ST FehelT|
PHOTOSYNTHETIC
Options:
1) THOSE
2) SCENT
3) PRONE

4) COTTON
Correct Answer: PRONE
Candidate Answer: PRONE

Question 13.If in a code language 3456 = ROPE and 15526 = APPLE then 54613 = ?

Ife; foRel IS 89T 3 3456 = ROPE § 31X 15526 = APPLE &, @Y 54613 = ?

Options:
1) RPPEO

2) ROPEA
3) POEAR

4) PAREO
Correct Answer: POEAR
Candidate Answer: POEAR

Question 14.If '+' means 'X' , '-' means '+', 'x' means '-' and '+' means '+', then what will be the value of 16 + 4x10-5+ 8= ?

IR+ WM K Y, - W IR A, X AT - g, 3R AT '+ 8, AT 16 + 4 x 10 - 5 + 8 = ? I HIT FIT gN?

Options:
1) 12

2)8
3)4

4)2
Correct Answer: 4
Candidate Answer: 4

Question 15.Some equations are solved on the basis of certain system. Find the correct answer for the unsolved equation on that basis.
5x4x3=70,

6 x5x4 =140

7x6x5="7?

AT FAIRTOT Ueh TIAY JUTTel o TR TR gl ohT IR 81 33 HTUR 9T 3TefecTRel FHIRIOT Sl FET 3ccR A HITC|

I 5x4x3=70,

6x5x4=140grar

7x6x5=7?
Options:
1) 210

2) 220
3) 230

4) 240
Correct Answer: 240
Candidate Answer: 210
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Question 16.Select the missing numbers @AM fo@nked from www. q maths.in
Rw a1v faemedt & & ofcd dear wia ffsw ?

8 [13|72 |117
21 ( 7 [189| 63
416 |36] 7

Options:
1) 65

2) 54
3)72

4) 110
Correct Answer: 54
Candidate Answer: [ NOT ANSWERED ]

Question 17.Deepu started his journey from A and moves 2 km towards South, then he turns right and moves 2 kilometre. Again he takes a right turn and walks 2
km. Now he takes a left turn and walks 3 km more. How far he is from the starting point?

&Y = 3= AT A W R 1, 3R g SfEror & 3R 2 .. wror| T 7 alfest 73 9 1/2 6.8, well| deveard dg =1: afeel H3 Y 2 foh . =rerr | e a8 S H3 a3
5.7, 3R =rolT| a5 39 g & fhclell oY B, STgT & 38T 370l T 37187 hr & ?
Options:

1) 3.5 km

3.5 R

2) 2.5 km

2.5 fF.a

3) 7.5km

7.5 fF.A

4) 1.5 km

1.5 {5

Correct Answer: 3.5 km

3.5 R

Candidate Answer: 3.5 km

3.5 .

Question 18.Consider the given statement/s to be true and decide which of the given conclusions/assumptions can definitely be drawn from the given statement.
Statements: 1. All parrots are chicks.

2. All birds are chicks.

Conclusions: I. Some birds are parrots.

I1. Some chicks are parrots.

FATART wesT 7 U A7 &Y aFdey A T &, Sk 39y & [Aseh/A Ay, 1 3R 11 fAemrer a1 €1 39! [3aR a1l & & aoFded Ty § e 98 A= o azai &
et gclia giar gl 3raeht favTr #aT § o T 910 aeraey & & wi-ar AfRad &9 & et fasewd/Aegar faeren o derar § ?
T : Il Aty ot &1 | el <t §1

e : 1. 3o el e

IL & g dld 81

Options:

1) Both conclusion I and conclusion II follow

fosey 1 3R 11 =t &y €

2) None of the two conclusions follows

QAT forsepet & & IS o T 76T B

3) Only conclusion I follows

sy 1 agr |

4) Only conclusion II follows

SRy 11 TEr g

Correct Answer: Only conclusion II follows

ey I T

Candidate Answer: Only conclusion II follows

SRy 11 TEr g
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Question 19.How many triangles are therd D) @At iOAded from www.q maths.in
& a1$ TRy aF Rverey Frepior 2

Options:
1) 12

2)8
3) 16

4) 10
Correct Answer: 16
Candidate Answer: 16

Question 20.The diagram below represents the students who study Physics, Chemistry and Mathematics. Study the diagram and identify the region which represents
students who study both Physics and Chemistry but not Mathematics. ?

o T arT 3@ H I faezmef arfiv 7w § S afifadr, et 3R 10 ged § 13T &7 3reaas Y 3R 9 HIeT 9d10 S 347 eIt @ grifaT &t o sifad 3R e
A, et TG BT o] AITOTT o TGt &1 ?

Ph?siis/;— E—ﬁr NTiStW
(BN
C/«'-- -

Mathematics

Options:
1)T+S+U+P

2)C
3)R+T+A+U+P+S

49HT
Correct Answer: T
Candidate Answer: T

Question 21.Which answer figure will complete the pattern in the question figure?

it B Scak MRl T2 3MTehfer & Yeat 1 @1 Al ?

N
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Options: Downloaded from www.qmaths.in

1)

Correct Answer:

(5

Candidate Answer:

%

Question 22.Select the answer figure in which the question figure is hidden.

T8V 1T faehodl & & g€ Scc¥ 3Mepfcl 3T HITTT Foreet yeaT 3mepfet ffeet & 2

IE
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Options: Downloaded from www.qmaths.in

1)

4)

Correct Answer:

Candidate Answer:

Question 23.A piece of paper is folded and cut as shown below in the question figures. From the given answer figures, indicate how it will appear when opened.

e T 7 ey 3TAR HTST &7 AISH Fiee! 2T Welel & d1G I8 o Scal¥ MR I fens Sam ?

&
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Options: Downloaded from www.qmaths.in

1)

Question 24.If a mirror is places on the line MN, then which of the answer figures is the right image of the given figure?

I vk o T MN XET IR 3@ ST &t &) 18 Sea 3Tpforat 7 & e & mepfar weat amepfer 7 wéy wfafae gt 2

M
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Options: Downloaded from www.qmaths.in

1)

=
S

B
bt

Correct Answer:

>

Candidate Answer:

>

Question 25.1In this question, the sets of numbers given in the alternatives are represented. The columns and rows of Matrix I are numbered from 0 to 3 and that of
Matrix II are numbered from 5 to 8. A letter from these matrices can be represented first by its row and next by its column, e.g., E can be represented by 00,11, etc.,
and 'T' can be represented by 56, 86, etc. Similarly you have to identify the set for the word 'TOLD'

T AeG ool Ueh HEAT-HHg GaRT GRITT a7 §, oH o femedt 3 & fondlr ver o f&am aram €1 faeredt 3 U 91T e wafg 37RT & af qaif ganr grfiv are €, o s iy e
31T &Y TGl A §1 3MegE 1 o Fist AN dercll 1 H&am 0 & 3 3 31regg 11 1 5 @ 8 & 918 §1 3T 3MTcggl ¥ Ueh 31&R T Ugol SHHAT Gerell 3R a1 7 T w87 HeaT ean e=frar
ST HHAT &1 3EET0T o 1T 'E' 1 00, 11 31T GaRT SR ST &ehell & T 'L ' &1 56, 86 31T GaRT SR ST FehelT &1 S TRE & ! faT gU 2req 'TOLD' & forw wagg 1

g &
MATRIX | MATRIX Il
0|1|2 |3 5 6 7 8
O E|T|O(D|[|5|L|I |[D|T
1({D|IE/D|T|/6|1|L|[T|D
21T [T E |l F] DT L[}

3|0/ DE O|8 T I (DL
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Options: Downloaded from www.qmaths.in

1) 67, 30, 55, 13
2) 76, 02, 13, 55
3) 76, 33, 55, 31

4) 85, 02, 23, 31
Correct Answer: 76, 33, 55, 31
Candidate Answer: 76, 33, 55, 31

Question 26."The General Equilibrium Analysis" was developed by

"HHT HJolel fALeINoT" fahae faenfare fovar a1 ?
Options:

1) Marshall

Areer

2) Ricardo

Reprsf

3) Walras

arelRy

4) Adam Smith

usH ey

Correct Answer: Walras
arelR8

Candidate Answer: [ NOT ANSWERED ]

Question 27.Insider trading is related to

e AR fred geafeyd § ?
Options:

1) Trade sector

R Eray

2) Share market

MR Afdhe

3) Credit market

»f3e Afhe

4) Horse racing

g3as

Correct Answer: Share market

AT AMfhe
Candidate Answer: [ NOT ANSWERED ]

Question 28.The operational period of 12th Five Year Plan is

128 G JNST=T ST RIS AT & ?
Options:

1) 2007-12

2) 2012-17

3) 2015-20

4) 2005-10
Correct Answer: 2012-17
Candidate Answer: 2015-20

Question 29.A Unitary form of government is that in which all the powers are concentrated in the hands of

TehlcHF FIHR H FHET il fges g F gl § ?
Options:

1) Local government

AT THER

2) Central government

FGrT TR

3) Provincial government

Yleci I TR

4) Panchayats

g

Correct Answer: Central government
FeGT THR
Candidate Answer: Central government

Fe T TEHR
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Question 30.The school of Indian art which p@spwrhaackeeRfromyrwivy w rqma_ﬂqsql in

AR Foll &1 T6 et A Thed & off, 'HT-UHeA, TG 31" & A1 I 37 ST ST 82
Options:

1) Mauryan

AT

2) Shunga

g

3) Gandhara

ITRT

4) Gupta

aedr

el

Correct Answer: Gandhara
g'a (

Candidate Answer: Mauryan

A

Question 31.Which of the following Pallava Kings assumed the title of "Vatapikonda" after defeating and slaying the great Chalukyan King Pulekesin II

ol & & Fi9-8 Teard TN o AT TAC T TohiareT |13 TSI Feh X 379 a7 Fh ‘qTeshis! T [&are giierer o ?
Options:

1) Narsingh Varman I

Mg g 1

2) Mahendra Varman I

Hgwg qaT |

3) Parameshwar Varman I

IRARTT T |

4) Nandi Varman

el qHT

Correct Answer: Narsingh Varman I
RIg goi=T [

Candidate Answer: [ NOT ANSWERED ]

Question 32.The land forms formed by wave erosion is

AIT-FETd QoA ATeH HH P T FEd 2
Options:

1) Spit

HRI el

2) Beach

G-

3) Cave

UI‘TrT

4) Barrier island
er-ad

Correct Answer: Cave
T

Candidate Answer: Barrier island

A

Question 33.Which one among the following is not an electro-magnetic wave?

AT # & Hior-2 - o 78 & ?
Options:

1) X-Ray

Y

2) R-Ray

IR

3) Cathode Ray

FAE-Y

4) Infrared Ray

SIPRS X (3TaXad o)
Correct Answer: Cathode Ray
FAE-Y

Candidate Answer: X-Ray
TFE-Y

Question 34.Which one of the following is a good electrical conductor?

AT & @ i-ar 3resT fagd-ures § ?
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IS
2) Diamond

[y
3) Peat

g

4) Charcoal

ST T Tl

Correct Answer: Graphite
AT

Candidate Answer: Peat

die

Question 35.Growing agricultural crops between rows of planted trees is known as

ISt Y FART & oI F Bl 39T FIT FEA § ?
Options:

1) Social forestry

TATTS dTfeteh!

2) Jhum

il

3) Taungya system

e JoTelr

4) Agro forestry

?fﬁr arferehr

Correct Answer: Taungya system

e yomely

Candidate Answer: [ NOT ANSWERED ]

Question 36.The Union Government on 22 May 2016 appointed whom as the new Lieutenant Governor of the Union Territory (UT) of Pondicherry

22 #S 2016 T Ha WHFR o fr NivsAN Far T &1 F1 Jogare g B ?
Options:

1) Kiran Bedi

foteT SEr

2) Kalyan Singh

FHeroT &g

3) Ram Naik

A ASh

4) Mukul Sangma

Correct Answer: Kiran Bedi
et S8r

Candidate Answer: Kiran Bedi

et SET

Question 37.Sending a frame to a group of stations is known as

TRFEAT o A Y I FoTel bl FAT Fgel § ?
Options:

1) Single casting

arer FIfecar

2) Spreading

wfgar

3) Multicasting

HAecrmIecaT

4) Casting

FIREET

Correct Answer: Multicasting

FHoclhIEedT

Candidate Answer: Multicasting

FECIRITECIT

Question 38.Prince of Wales Cup is associated with

o 376 dod ' Y fFe Ao & geafeed & 2
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1) Rugby

T@Er

2) Golf

Elirce

3) Polo

qYelr

4) Chess

et

Correct Answer: Golf

Me®

Candidate Answer: Polo

qlelt

Question 39.A drainage pattern where a river is joined by its tributaries approximately at right angles is

Stot TRy wfaa=, o & dere Afear sead A, a8 Fa1 Fgarar g ?

Options:
1) Dendritic

2) Trellis

ST ()

3) Rectangular

ATIATPR

4) Radial

lEcpiv]

Correct Answer: Trellis

ST ()

Candidate Answer: [ NOT ANSWERED ]

Question 40.Who was the founder of the Indian Reform Association in 1870?

a¥ 1870 & 'HRAT FUR T’ & FEUTIH HleT & ?

Options:

1) Debendranath Tagore

S8eg AT IR

2) Keshab Chandra Sen

T To g el

3) Rammohan Roy

TH HigeT T

4) Dayanand Saraswati

Teleg, AETAT

Correct Answer: Keshab Chandra Sen
HAT Tog; Tl

Candidate Answer: [ NOT ANSWERED ]

Question 41.Which Constitutional Amendment Act deals with the disqualification of MPs and MLAs?

FleT-a1 TITT TN AT The, Tewat 3R = Tom Geat 1 3eTar § dafeud & ?
Options:

1) 42nd Amendment Act

42q7 TR AT

2) 52nd Amendment Act

52a1 TR Afafags

3) 62nd Amendment Act

62a1 Ty AfAfATH

4) 32nd Amendment Act

3247 TRy s

Correct Answer: 52nd Amendment Act
5247 TRty 3fafaas

Candidate Answer: [ NOT ANSWERED ]

Question 42.Which of the following increases the rate of heart beat?

& FT Ushel Y 9T AFATAET F O e gedT E ?
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1) Peripheral nerves

qReRT dfFe

2) Sympathetic nerves

e cif3enT

3) Parasympathetic nerves

IHEY TR

4) Cranial nerves

FYTer AT

Correct Answer: Sympathetic nerves
Fefehad cif3ent

Candidate Answer: [ NOT ANSWERED ]

Question 43.The deficiency of Niacin-a vitamin of B complex group causes the disease

Tt - St RrafaeT d-iecoera g9 7 T e ¢, i Foll @ Sla-ar Qe g1 § ?

Options:

1) Marasmus
AraAg

2) Pellagra

Yo

3) Rickets

Rerew

4) Night-blindness
Tty

Correct Answer: Pellagra

e
Candidate Answer: [ NOT ANSWERED ]

Question 44.The core of the earth is also known as

G2l o R (Fheard 1) 1 3R R A1 & ST ST g ?
Options:

1) Lithosphere

I A

2) Mesosphere

AAEHAT

3) Barysphere

TEHST

4) Centrosphere

IRARS g (FrERhR )
Correct Answer: Barysphere
TEHASA

)

Candidate Answer: [ NOT ANSWERED ]

Question 45.Iron and manganese present as pollutants in water cannot be removed by.

ST # TeNehl & &9 F Hiolg ot AT HaTeiieT ol fohefeh SaRT =T8T §erAT ST Fehell & ?
Options:

1) oxidation followed by settling and filtration
e JeTeRt foRT 1T 3iTeriemioT &

2) chlorination

FARIeARTOT

3) ion exchange process

3 fafese ufsear

4) lime soda process or manganese zeolite process
AT FST Fishar AT Helelier foraerse wfshar

Correct Answer: chlorination

Fel{IeATehoT

Candidate Answer: chlorination

FARIATRTOT

Question 46.A pair of contrasting characters controlling the same trait is called

el apolt &7 goa, S T Tt s Fafa wY, s g ?
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1) factors

Uceh

2) loci

ESICREE N

3) allele

FIATIHAT (Velie)

4) lineage

T IR

Correct Answer: allele
?gmfa’ch—ed‘r (Telren)
Candidate Answer: [ NOT ANSWERED ]

Question 47.The antiparticle of an electron is

SleleT T Ted)-UTfeehel FT & ?

Options:

1) Positron

ifotere

2) Proton

greT

3) Alpha particles
THT-aTfesher

4) Beta particles
der-arféaner

Correct Answer: Positron

qiferereT

Candidate Answer: Proton

T

Question 48.The polar regions are sparsely populated because of

gferr &v i ey et Rl & R g ?
Options:

1) lack of minerals

@ferst gerelf & et

2) unsuitable climatic conditions

3T eI Y G

3) infertile land

ST

4) mountainous topography

AT T

Correct Answer: unsuitable climatic conditions
S ey I e

Candidate Answer: unsuitable climatic conditions
FTIFFE STorTg TR

Question 49.Algal bloom results from

AaTeT & FcTeT T FIT HROTBIAT & ?
Options:

1) Global warming

Telleret arfaer

2) Salination

oIquTAT

3) Eutrophication

oo (@ thehereT)

4) Biomagnification

I e (SR-HATeRerT)
Correct Answer: Eutrophication
gooT (@ theRRre)

Candidate Answer: [ NOT ANSWERED ]

Question 50.Which of the following pairing is incorrect

FRa A dRT-ar gA a ad ¢ ?
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1) Hygrometer - Water vapour content of the atmosphere
FISINHAT - ARIHSS HT ST 37T

2) Lactometer - Specific gravity of liquids

derdiHIeT- avel 1 faflise gefea

3) Anemometer - Speed of the wind

TiAAR- arg & I

4) Seismograph - Earthquakes

BRI - 37T

Correct Answer: Lactometer - Specific gravity of liquids
erdiHeT- el 1 faflse gefca

Candidate Answer: Lactometer - Specific gravity of liquids

dFaHieR- aRe 1 fafdse gaca

Question 51.A can do a piece of work in 20 days and B in 15 days. With help of C, they finish the work in 5 days. C can alone do the work in

A TR 1A T 20 T F X TohT § IR B 15 a7 3 R TohcT & C T AT ¥ J 5 Tt # 1o TACd 1 ot § | C 37ehell 38 1A HT Rhcel ST 7 e ?
Options:

1) 5 days

5 feet

2) 6 days

6 feet

3) 10 days

10 &t

4) 12 days

12 et

Correct Answer: 12 days

12 e

Candidate Answer: 12 days
12 et

Question 52.A spherical lead ball of radius 6 cm is melted and small lead balls of radius 3 mm are made. The total number of possible small lead balls is

6 .7, =T aTel Teh Itel WY ¥ diel Y iTem s 3 .7, BT arel DI - D B i diel T8 ST & | TRY A DI STl T Fad T&JT F4T o ?

Options:
1) 4250

2) 4000
3) 8005

4) 8000
Correct Answer: 8000
Candidate Answer: 8000

Question 53.At what percentage above the cost price must an article be marked so as to gain 33% after allowing a customer a discount of 5%?

TR T & Y T W I FoheTal GTTIeT ST 3ifehe et Tl ST o Ageh &1 5% & Fe & & TN GFHITER T 33% T olleT &Y ?
Options:

1) 40%

2) 45%

3) 35%

4) 47%

Correct Answer: 40%

Candidate Answer: [ NOT ANSWERED ]

Question 54.The four sides of a quadrilateral are in the ratio of 2:3:4:5 and its perimeter is 280m. The length of the longest side is

T TTfelsT B TR ToMTT 2:3:4:5 & 3Fe]uTet 3 & 31X Sweh TR 280 #eT ¥ AT o<l 3751 Y SIS TABT ?
Options:

1) 100m

100 #rex

2) 150m

150 #Hrex

3) 175m

175 #iex

4) 180m

180 #HreX

Correct Answer: 100m

100 X

Candidate Answer: 100m
100 #Hrex
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Question 55.Kamal has some apples. He @@Wﬂlw@ed HfmmpWWWa_rq]!nath S. i n

FHA & T TS T §| 3T AT TV 36H 40% 3HToh 9| i 301 70 A o AT TAST 1 381 febet=) A @ ?
Options:

1) 18

2) 42

3) 50

4) 90
Correct Answer: 50
Candidate Answer: 50

Question 56.A train 100 m long is running at a speed of 120 kms/hr. The time taken to pass a person standing near the line is

100 #HrexX =T Ueh Y@mET 120 o, 7. /8¢ T IFAR I Tl TET & | YT IT o I T3 Uh cTTore T IR el 3 S TohclelT T 3191 ?
Options:

1) 1 second

1 dhvs

2) 3 seconds

3 qHUs

3) 5 seconds

5 A0S

4) 7 seconds

7 ThUE

Correct Answer: 3 seconds

3 dhvg
Candidate Answer: 3 seconds

3 T&Us

Question 57.
2x

Ifx% 4 5x + 6 = 0, then the value of S

AR 2+ 52 +6 =08 A ——=— T AT IATE?

¥ —Tx+6

Options:
1)
1

6
2
1
3

3)

| =

4)

I L=

Correct Answer:

S| =

Candidate Answer: [ NOT ANSWERED ]

Question 58.If a+b=>5 and a-b=3, then the value of (a+b?) is

g a+b=5 31 a-b=3 g &Y (a2+b?) T AT IABT ?

Options:
1)17

2)18
3)19

4) 20
Correct Answer: 17
Candidate Answer: 17
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Question 59.A 8 cm long perpendicular is gwnmldaedcfp@mnwww .Tq mathSe. ii'qe is

TR godl & Sheg I 12 Q.. T ShaT T Ueh 8 .. ST o1l TraT ST § | ool T 414 3l Fhfolv ?
Options:

1) 10 cm

10 ..

2) 12cm

12 3.4

3) 16cm

16 T

4) 20cm

20 .7

Correct Answer: 20cm
20 .7

Candidate Answer: 20cm
20 .7

Question 60.The point equidistant from the sides of a triangle is called

ST T o3 & THIEY Fieg T Fgellc] § ?
Options:

1) Circumcenter

g

2) Incentre

i,

3) Orthocentre

racorey

4) Centroid

eh

Correct Answer: Incentre
HdFeg

Candidate Answer: Circumcenter
qRFeg

Question 61.The value of cosec?60° + sec260° - cot260° + tan30° will be
c0sec?60° + sec260° -cot260° + tan230° T HeT T T ?
Options:
1)5
2)
5 1
2
3)
5 1
3
4)
5 2
3
Correct Answer:
5 1
3
Candidate Answer:
5 1
3
Question 62.A man buys a table and a chair for Rs. 500. He sells the table at a loss of 10% and the chair at a gain of 10%. He still gains Rs.10 on the whole. The

cost price of chair in rupees is

15 afad U AT 3R T F Rs.5009 TedT 1 T8 A9 10% 1 g1fet 7% 3R FF 10% & AT a¢ 9= & &1 6T 37 38 oot el X Rs. 100 T A It &1 FT 7 3628
o T A qABT ?
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1) Rs.200
2) Rs.250
3) Rs.300

4) RS.350
Correct Answer: Rs.300
Candidate Answer: Rs.300

Question 63.The least number that must be added to 8961 to make it exactly divisible by 84 is

8961 & alef TN eTEccT e HET SIS o a 84 & UiaT: sty &1 < ?

Options:
1) 27

2) 57
3) 141

4) 107
Correct Answer: 27
Candidate Answer: [ NOT ANSWERED ]

Question 64.The average age of a class of 39 students is 15 years. If the age of the teacher is included, then the average increases by 3 months. Find the age of the
teacher.

39 o &1 Ueh el A e 3y 15 a9 &1 Ffe sredes i 37y o Sits & ST A e 31Ty 3 Al §¢ S &1 3EATH 6 Y Al SIS ?

Options:
1) 30

2)25
3)35

4) 40
Correct Answer: 25
Candidate Answer: 40

Question 65.

1 1 S
Ifx=a + - andy = a— - , then the value of x* + yv* — 2x?y? is
a a

1:
) a X = a+—3-T|Ty: gt Bl x*+y%- 2532 & T AT L7
a a

Options:
1)4

2)8
3)16

4) 64
Correct Answer: 16
Candidate Answer: 16

Question 66.
In AABC and ADEF,if ZA=50",2B=70", 2C=60", £D=60"
, LE=70°and £F =50°, then

AABC 3R ADEF # If¢ £A=50° £B=70°, £C=60°, £D=60°, £E=70° H £F=50°, & a1
Options:
1)
AABC ~ AFED

2)
AABC ~ ADFE

3)
AABC ~ AEDF

4)
Visit ﬁ%ﬁ.aar}naths.in for tons of free study materials and latest exam updates.
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AABC ~AFED

Candidate Answer:
MABC ~ AFED

Question 67.
Ina AABC ,if42A=3 £B=12.2C, find £ZA

AABC & g 4,A=3 £B=12 £C, & AT LA FI1?

Options:
1) 22.5°

2) 90°
3) 67.5°

4) 112.5°
Correct Answer: 67.5°
Candidate Answer: [ NOT ANSWERED ]

Question 68.
If SinB + CosecB = 2, the value of Sin" B+Cosec” O is

ATE sinf + cosec @ = 2BL Al sin™d + cosec™ 8 T HIT 4T g7
Options:

1)

2|'

2)
1
n

3)2

4)0
Correct Answer: 2
Candidate Answer: 2

Question 69.If 2X*4 - 2X*2 = 3, then the value of 'X' is

g 2x+4 - 2X+2 = 3 g), a1 'x' 1 AR AT Hifew ?

Options:
1)0

2)2
3)-1

4) -2
Correct Answer: -2
Candidate Answer: -2

Question 70.Two persons are on either side of a temple, 75 m high, observe the angle of elevation of the top of the temple to be 30° and 60° respectively. The
distance between the persons is

& S, Tk 75 Mex T Al F Foda oRt ), ve Al far 7 @3 § 3R ARR F Y # 3eTae ot 8@ § 5w 300 3R g@ w600 gelid g 1 @t
safFaat & & Rt g ?
Options:

1) 173.2m

173.2 #fiex

2) 100m

100 #AeX

3) 157.7m

157.7 AiX

4) 273.2m

273.2 Al

Correct Answer: 173.2m
173.2 Alx

Candidate Answer: [ NOT ANSWERED ]
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Question 7L.If the difference between thefJmantintaerd echfrony N W0 MatvSd |y annum for 2 years is Rs. 20, then the

sum is

T I =T ARY 5% a1 & ) 2 99 & v & el § Y 38 W oH1et arel b e saTot 3N HUROT 47T 7 Rs. 20 F7 3ec 8, Al 93T a8 AA F=AT 8 ?
Options:

1) Rs. 2000
2) Rs. 4000
3) Rs. 6000

4) Rs. 8000
Correct Answer: Rs. 8000
Candidate Answer: Rs. 8000

Question 72.Study the following histogram of marks in mathematics (out of 50) of students in a class and answer the following questions.

oA & IONT H UTed 37T (50 F T ) A eRiie el eTafAd 3mad [ &1 3reae Y 3R Ffaf@d et & 3car e

)
B = ——— = = —— —_—

45

Number | g0 = = = — — — = — = =
of
Students|

35
30
23

== = === — -

15— = = = -
77| I [ [N DA
5

o 5 10 15 20 25 30 3% 40 45 50

~

Mathematics

If the pass marks in maths is 31, the number of students who failed in maths is

e o # 3cciot 31 31 ﬁﬁ?ﬁaﬁﬁm?mﬁ#ﬂwwaﬁr?

Options:
1) 10

2) 15
3)20

4) 25
Correct Answer: 15
Candidate Answer: 15

Question 73.Study the following histogram of marks in mathematics (out of 50) of students in a class and answer the following questions.

oA & IO F UTeT 37T (50 F T ) A eRiie el e=TafAd 3mad [ &1 3reaae Y 3R F=faf@d et & 3car Jfav|

)
B = = - —— —_—

45

Number | 40— = = — — — = — = =
of
Students|

35
30
23

] el

15— = = = -
7| [ [N A
H

o 5 10 15 20 25 30 3% 40 45 S50

~

Mathematics
Total number of students in the class is
HETT 3 T T Fol TEAT IAST ?
Options:
1) 120
2) 125
3) 130

4) 135
Correct Answer: 135
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Question 74.Study the following histogram of marks in mathematics (out of 50) of students in a class and answer the following questions.

1At & IO & yTed 37T (50 F ) Y &Ri aTel Rrafafla 3maa T &1 sregga wt 3R Aafaf@a gt & scax e

T

S = e e e = - —

45
Number | g0 = = = — — — = — = =

of
Students|

35
30
23

== == = — -

15— - ——— -

whb-—-—= = - + 4 — ¥ —

o 5 10 15 20 25 30 3% 40 45 50

e
Mathematics

The percentage of number of passed students is (31 is the pass marks)

ngﬁ@rﬁ@m(ﬁ%mﬁ)m?(ﬁﬁgﬁ*ﬁv 31 37 3fa &)
Options:

1)
8
85 § %
2)
86 : %
9 o
3)
87 i %
9 o
4)
88 g 0%
9 0
Correct Answer:
8
88 3 5%
Candidate Answer: [ NOT ANSWERED ]
Question 75.Study the following histogram of marks in mathematics (out of 50) of students in a class and answer the following questions.

BT & O F gTed 37T (50 F T ) At grife arel efaf@a 3maa T &1 sreaaa w3k R=afaf@d geat & 3car fSv|

i

B0 = == = e e = — e —

a5
Number | ol = = — — — - — = =

of
Students|

35
30
23

20— - - - ——

15— - = ——— -
i S 1 o R
5

o 5 10 15 20 25 30 35 40 45 S50

e
Mathematics

If the students have got the marks out of 50 and if A+ grade has been declared for above 90%, then the number of students who have got A+ grade is

Ife ot 50 7 & 31 U 71w gt 31K 90% & 31f8e 3ieh UTod ahtey aTer oTEl Sl A+ T ST A fhdey orat Y A+ T arar ?
Options:

1) 10

2) 20

3) 30

4) 40

Correct Answer: 10

Candidate Answer: 10

Question 76.In the following question, out of the four alternatives, choose the word which best expresses the meaning of the given word and click the button
corresponding to it.
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1) VIBRATING

2) REFRESHING

3) EXAGGERATED

4) ACCELERATING

Correct Answer: REFRESHING

Candidate Answer: ACCELERATING

Question 77.In the following question, out of the four alternatives, choose the word which is opposite in meaning to the given word and click the button corresponding
to it.

EVADE

Options:

1) INVADE

2) ESCAPE

3) SHUN

4) CONFRONT

Correct Answer: CONFRONT

Candidate Answer: [ NOT ANSWERED ]

Question 78.Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word and click the button corresponding to it.
Options:

1) Phenamenon

2) Phenomenon

3) Phenominon

4) Phenomenan

Correct Answer: Phenomenon

Candidate Answer: Phenomenon

Question 79.1In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

He is jealous for (A)/my success (B)/and wants to destroy me.(C)/No Error(D)
Options:

1)A

2)B

3)C

4)D

Correct Answer: A

Candidate Answer: A

Question 80.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

The main purpose of the visit (A)/is to develop a close relationship (B)/ among the two countries.(C)/No Error(D)
Options:

1A

2)B

3)C

4)D

Correct Answer: C

Candidate Answer: C

Question 81.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

I left (A)/no stone unturned(B)/to achieve for my object.(C)/No Error(D)
Options:

1)A

2)B

3)C

4)D

Correct Answer: C

Candidate Answer: C

Question 82.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

I cannot conceive of accepting the post.
Options:

1) he

2) his

3) him

4) he'll

Correct Answer: his

Candidate Answer: him
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Question 83.The sentences given with bIa® @Wﬁ'@ade@rﬁﬂ@mwww?qmatmgtinor each question. For each question,

choose the correct alternative and click the button corresponding to it.

The maestro's son has no taste music.
Options:

1) about

2) with

3)in

4) to

Correct Answer: in

Candidate Answer: about

Question 84.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

Rita promised to come but she never turned
Options:

1)in

2) out

3) down

4) up

Correct Answer: up

Candidate Answer: up

Question 85.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Weal and woe

Options:

1) Friends and enemies

2) Be in danger

3) Adversity

4) Good times and bad times

Correct Answer: Good times and bad times
Candidate Answer: Good times and bad times

Question 86.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Call in question
Options:

1) Summon as a witness
2) Doubtful

3) Prove a theory

4) Challenge

Correct Answer: Challenge
Candidate Answer: Challenge

Question 87.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Make both ends meet
Options:

1) Live within means
2) Achieve a solution
3) Live among people
4) End of the road

Correct Answer: Live within means
Candidate Answer: Achieve a solution

Question 88.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

A drug which makes one see things that are not really there.
Options:

1) Aphrodisiac

2) Steroid

3) Carcinogen

4) Hallucinogen

Correct Answer: Hallucinogen

Candidate Answer: Hallucinogen

Question 89.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

Providing relief
Options:

1) Reissue

2) Reprieve

3) Rejoinder
4) Refuge

Visit www.gmaths.in for tons of free study materials and latest exam updates.

http://thepracticetest.in/challengesystem/response_questions.php?t_id=MD c=&appid=1a4fff78943b24af40c79deccf09bb87 25/28



21/09/2016 Staff Selection Commision
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Candidate Answer: Reprieve

Question 90.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

The philosophy of putting another's welfare above one's own.
Options:

1) Agnosticism

2) Polytheism

3) Altruism

4) Iconoclasm

Correct Answer: Altruism

Candidate Answer: Iconoclasm

Question 91.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

This book is adopted to the needs of beginners.
Options:

1) adapted to

2) adapted for

3) adopted for

4) No improvement

Correct Answer: adapted to

Candidate Answer: adapted for

Question 92.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

There are a good many tigers in this forest.
Options:

1) some good many tigers

2) the good many tigers

3) an good many tigers

4) No improvement

Correct Answer: No improvement
Candidate Answer: No improvement

Question 93.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

London is one of the oldest towns of England.
Options:

1)in

2) at

3) besides

4) No improvement

Correct Answer: in

Candidate Answer: in

Question 94.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

You will be late if you do not leave now.
Options:

1) will not leave now

2) did not leave now

3) left now

4) No improvement

Correct Answer: No improvement
Candidate Answer: will not leave now

Question 95.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

People ask me why I decide to start a new magazine.
Options:

1) will decide

2) am deciding

3) have decided

4) No improvement

Correct Answer: have decided

Candidate Answer: have decided
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Question 96.A passage is given with 5 qu@@nga@edaﬁfWﬁuWWWSquathStgmh question out of the four alternatives and

click the button corresponding to it.

Learning is the knowledge of that which is not generally known to others, and which we can only derive at second-hand from books or other artificial sources. The
knowledge of that which is before us, or about us, which appeals to our experience, passions, and pursuits, to the bosoms and businesses of men, is not learning.
Learning is the knowledge of that which none but the learned know. He is the most learned man who knows the most of what is farthest removed from common life
and actual observation. The learned man prides himself in the knowledge of names, and dates, not of men or things. He thinks and cares nothing about his next-door
neighbours, but he is deeply read in the tribes and castes of the Hindoos and Calmuc Tartars. He can hardly find his way into the next street, though he is acquainted
with the exact dimensions of Constantinople and Peking. He does not know whether his oldest acquaintance is a knave or a fool, but he can pronounce a pompous
lecture on all the principal characters in history. He cannot tell whether an object is black or white, round or square, and yet he is a professed master of the optics
and the rules of perspective.

Learning is defined as

Options:

1) the knowledge of that which is before us

2) the knowledge about us

3) the knowledge of that which is not generally known to others
4) the knowledge related to the businesses of men

Correct Answer: the knowledge of that which is not generally known to others
Candidate Answer: the knowledge of that which is not generally known to others

Question 97.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

Learning is the knowledge of that which is not generally known to others, and which we can only derive at second-hand from books or other artificial sources. The
knowledge of that which is before us, or about us, which appeals to our experience, passions, and pursuits, to the bosoms and businesses of men, is not learning.
Learning is the knowledge of that which none but the learned know. He is the most learned man who knows the most of what is farthest removed from common life
and actual observation. The learned man prides himself in the knowledge of names, and dates, not of men or things. He thinks and cares nothing about his next-door
neighbours, but he is deeply read in the tribes and castes of the Hindoos and Calmuc Tartars. He can hardly find his way into the next street, though he is acquainted
with the exact dimensions of Constantinople and Peking. He does not know whether his oldest acquaintance is a knave or a fool, but he can pronounce a pompous
lecture on all the principal characters in history. He cannot tell whether an object is black or white, round or square, and yet he is a professed master of the optics
and the rules of perspective.

The most learned man is he who

Options:

1) knows about all the principal characters in history

2) sees not with the eyes of others

3) is acquainted with the streets of Constantinople and Peking

4) knows the most of what is farthest removed from common life and actual observation.

Correct Answer: knows the most of what is farthest removed from common life and actual observation.
Candidate Answer: knows the most of what is farthest removed from common life and actual observation.

Question 98.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

Learning is the knowledge of that which is not generally known to others, and which we can only derive at second-hand from books or other artificial sources. The
knowledge of that which is before us, or about us, which appeals to our experience, passions, and pursuits, to the bosoms and businesses of men, is not learning.
Learning is the knowledge of that which none but the learned know. He is the most learned man who knows the most of what is farthest removed from common life
and actual observation. The learned man prides himself in the knowledge of hames, and dates, not of men or things. He thinks and cares nothing about his next-door
neighbours, but he is deeply read in the tribes and castes of the Hindoos and Calmuc Tartars. He can hardly find his way into the next street, though he is acquainted
with the exact dimensions of Constantinople and Peking. He does not know whether his oldest acquaintance is a knave or a fool, but he can pronounce a pompous
lecture on all the principal characters in history. He cannot tell whether an object is black or white, round or square, and yet he is a professed master of the optics
and the rules of perspective.

A learned man, as described in the passage,
Options:

1) cares about men and things

2) does not care about men and things

3) cares about the shapes of objects.

4) cares about his neighbours

Correct Answer: does not care about men and things
Candidate Answer: does not care about men and things

Question 99.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

Learning is the knowledge of that which is not generally known to others, and which we can only derive at second-hand from books or other artificial sources. The
knowledge of that which is before us, or about us, which appeals to our experience, passions, and pursuits, to the bosoms and businesses of men, is not learning.
Learning is the knowledge of that which none but the learned know. He is the most learned man who knows the most of what is farthest removed from common life
and actual observation. The learned man prides himself in the knowledge of hames, and dates, not of men or things. He thinks and cares nothing about his next-door
neighbours, but he is deeply read in the tribes and castes of the Hindoos and Calmuc Tartars. He can hardly find his way into the next street, though he is acquainted
with the exact dimensions of Constantinople and Peking. He does not know whether his oldest acquaintance is a knave or a fool, but he can pronounce a pompous
lecture on all the principal characters in history. He cannot tell whether an object is black or white, round or square, and yet he is a professed master of the optics
and the rules of perspective.

The passage suggests that a learned man
Options:

1) understands his neighbours

2) does not know his old acquaintances

3) is not concerned about names and dates
4) is interested in travelling

Correct Answer: does not know his old acquaintances
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Question 100.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives
and click the button corresponding to it.

Learning is the knowledge of that which is not generally known to others, and which we can only derive at second-hand from books or other artificial sources. The
knowledge of that which is before us, or about us, which appeals to our experience, passions, and pursuits, to the bosoms and businesses of men, is not learning.
Learning is the knowledge of that which none but the learned know. He is the most learned man who knows the most of what is farthest removed from common life
and actual observation. The learned man prides himself in the knowledge of names, and dates, not of men or things. He thinks and cares nothing about his next-door
neighbours, but he is deeply read in the tribes and castes of the Hindoos and Calmuc Tartars. He can hardly find his way into the next street, though he is acquainted
with the exact dimensions of Constantinople and Peking. He does not know whether his oldest acquaintance is a knave or a fool, but he can pronounce a pompous
lecture on all the principal characters in history. He cannot tell whether an object is black or white, round or square, and yet he is a professed master of the optics
and the rules of perspective.

The given passage implies that

Options:

1) knowledge of the learned is exclusive to them

2) a learned man cannot deliver lectures

3) a learned man is not interested in Calmuc Tartars

4) a learned man is not aware of the optics and the rules of perspective

Correct Answer: knowledge of the learned is exclusive to them
Candidate Answer: knowledge of the learned is exclusive to them
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